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1.3 Basic Exponent Rules Classwork

Simplify. Your answer should contain only positive exponents.

1) 3x° - x° 2) 3v-2v°
3x° 6v*

3) 2x7-2%° 4) x-2x°
4x 2x°

5) 2n° - 2n° 6) x*-3x°
4n? 3x°

7) (5n)° 8) (2x7)°
125n° 4y

9) (5x*)° 10) (3x°)°
25x® 9x'’

1 (%) 12) (4£)"
n’ 1

13) (115712)3

14) o (r4)5

72! P
15) x°- (x?) 16) ()"
ME 18
3 3 3
17) (m°)” - (m*) 18) (. (*))
m27 ]/'57
30 3 3p° 3p°
19) — 3 20) — 4
4x° 4x 26 2
21) 5_p i 4’”0 2
6 4,5 22) — 3
4p p 6r 3r
wm® 1 6n° 6n
23) — 27 24) — —
6n 31’[ Sn 5

© 2017 Kuta Software

All rights reserved'.l' Made with Infinite Algebra 2.

Period



3x? - 2x° 2x

25) ——; 26) —
X 2x7 - x
6 1
2
3052 3
27) 3x™ - 2x 28) 351
3x 3a” - 2a
2x* L
2a°
252 2
29) —=% 30)
3x-3 2
2x X 3p p
9 3p°
3! 442p°
31) —— 32) —
4v-u v 4a’b” - 2a
3u? b
4" 24a°
33) 2 uy’ 34) 47 3uty?
Suv’ 3u’y?
v u? 4
5 uv
3400 vt 5x1°
35) 22 Y &Y 36) 2L 2
3x_4y5 2y
2x 5y%x
10
y
2 2 A0
37) p-3p 38) n"-2n
po 3
3
p 3n’
2x° 3a’ - 2a”
39) ——; 40) 5
2x7 - x a
% 6a’
X
20" 2% 2
41y 2 f’ 42) ==
2b X
b 4
¥
43) What is the \a/rga ofa quadrilate?/ll_ that has 44) Explain why the quotient property of
length of V7 and a width of V7? "
aﬁeng © anda widto exponents works. [.LE. when solving x_n’
7’ x

why can you just solve by taking x™ ~"?
How can you show this?
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